LOSUNG ZU bsp-5435-1/JMJE
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Aufgaben-Quickname: 5435

Aufgabe 1
Berechne den Grundwert.

a) 100 % von 73=73
d) 52 % von 75=39

g) 100 % von 21=21
j) 18 % von 50=9

Aufgabe 2

b) 70 % von 80=56
e) 50 % von 28=14
h) 50 % von 24=12

Berechne den Grundwert.

a) 65 % von 120=78
d) 50 % von 146=T73
g) 80 % von 110=88
j) 40 % von 65=26

Aufgabe 3

b) 25 % von 140=35
e) 50 % von 42=21

Berechne den Grundwert.

a) 50 % von 724=362
d) 60 % von 440=264
g) 50 % von 318=159
i) 80 % von 225=180

Aufgabe 4
Berechne den Grundwert.

a) 30 % von 820=246
d) 40 % von 390=156
g) 100 % von 685=685
j) 100 % von 785=785
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h) 100 % von 162=162

b) 100 % von 909=909
e) 50 % von 568=284
h) 100 % von 689=689

b) 25 % von 668=167
e) 100 % von 424=424
h) 70 % von 500=350
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¢) 20 % von 60=12
f) 100 % von 89=89
i) 50 % von 54=27

c¢) 20 % von 80=16
f) 55 % von 120=66
i) 20 % von 85=17

¢) 90 % von 500=450
f) 80 % von 385=308
i) 50 % von 936=468

c¢) 16 % von 525=84
f) 3 % von 300=9
i) 100 % von 384=384
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